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TOURISM ADMINISTRATION AND MANAGEMENT
Paper III
Time Allowed : 2% Hours] [Maximum Marks : 150

Note :— This question paper contains seventy five (75) multiple choice questions.

Each question carries two (2) marks. Attempt all questions.

1 A tourist guide is expected to know that one of the popular attractions for
the tourists is a Bell made of eight metals housed in the Indian Institute

of Advanced Study, Shimla was presented in April, 2010 by the :

(A) King of Nepal (B) President of India
(C) King of Jaipur (D) King of Bhutan
2. The term ‘Social Tourism’ describes :

(A) Assisted holidays or vacations for disadvantaged groups in society
(B) Tourism for proletarians

(C) Tourism which fosters group activities

(D) Tourism for bourgeois cléss

3. In the budget of 2018, how many Archaeological surveys of India’s monu-

ments are to be upgraded under the Adarsh Smarak Yojna ?
(A) 50 (B) 100
(C) 150 | (D) 200
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4. The process and the result of interaction between different cultures is de-

scribed in sociological terms as :
(A) Acculturation (B) Sanskritization
(C) Naturalization (D) Acclimatization

5. As per 2017’s statistics Indians travel abroad more than the double of foreign

tourists who came to India. The number of Indian tourist is :

(A) 23 millions (B) 22 millions
(C) 25 millions (D) 32 millions

6. Camel fair is one of the tourist attractions in :
(A) Rohtak (B) Jaiselmer
(C) Pushkar ' (D) Udaipur

7. Largest man-made Lake in India is :
(A) -Dal Lake ' - (B) Wular Lake -
(C) Gobind Sagar Lake (D) Lok Tak Lake

8. The Great Himalayan National Park is situated in the region of :
(A) Manali (B) Kullu

(C) Shimla (D) Dharamshala
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9. Standard mean sea level of India is :
(A) Chennai coast (B) Mumbai coast
(C) Paradip coast (D) Goa coast

10 Match the List-I with List-II and select the correct answer from the codes

indicated below :

List I List II
(@) Coral reefs (i) Amazonia
(b) Destruction of forests (i) Mediterranean
(¢) Water quality (zzi) Africa
(d) Wildlife (fv) Pacific Ocean
Codes :

@ ® © @
A @ @ G G
B & G @ G
© G O G G
D) Gi) @ G G
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11.  Ifthe tourists wish to see architectural and other cultural legacy of the French

Colonial power in India, they should be suggested to visit :
(A) Goa (B) Kolkata
(C) Puducherry (D) Shimla

12.  Tranquebar or Tharangambadi, a tourist town was founded by the Danes.

Tharangambadi means :
(A) Town of the Dutch
(B) Town of the singing waves
(C) Town of the sports
(D) Town of the freedom
13. Where is the headquarters of Accor Group of Hotels located ?
ey Chicaéo, U.S.A. - (B) Paris, France
(&) Washinéton DC, U.S.A. ‘(D) Ham;over,. Germany.
14. McDonald's, KFC and Pizza Hut fall under which category of outlets ?
(A) Coffee Shop (B) Quick Service Restaurants

(C) Fine Dining (D) Kiosk
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15.  Match the following and select the correct answer from the codes given below :

Type of plan

() European Plan

(zx) Continental Plan

(i) Modified American Plan

(f7v) American Plan

Codes :

(@)
(A) (a)
(B) (o
(C) ®)

D) @

(i)
(b)
(a)
(©
()]

(€273
()
®)
(d)

(a)

(tv)

(d)

@

(a)
(e)

Deseription

Continental Breakfast included in
the room price.

Continental or full breakfast and
dinner included in the room Price.
Room only, no meals.
Continental or full breakfast,
lunch, and dinner included in the

room price.

16. The minimum size of bedroom excluding bathroom in a five star and five

star deluxe hotel in sq. ft. should be :
(A) 120

(C) 200

T.B.C.: 18/17/ET—III
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17. Which of these is not a member of HRACC ?
(A) Representative of HAI (B) Representative of IATO
(C) Representative of TATA (D) Representative of TAAI

18.  In which year, the rail link was introduced between Liverpool and Manchester ?

(A) 1830 (B) 1845
(C) 1860 (D) 1875
19.  Match the following and select the correct answer from the codes given below :
Railway Zone Headquarters

() North East Frontier Railway (a) Delhi

(i) Northern Railway (b) Gorakhpur
(fii) North Eastern (¢) Guwahati
(fv) North Central (d) Allahabad
Codes :

@ @ @) (v
A © @ b @
B) @ @ @ O
C) @ B (@ @@

M & @ @ (@
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20. The first scheduled airline service in India was started by the Aviation

Department of Tatas on :
(A) 15 October, 1931
(B) 12 January, 193é
(C) 15 October, 1932
(D) 20 September, 1933
21. The National Highway No. 2 originates from Delhi and finishes at.........
(A) Calcutta (B) Allahabad
(C) Varanasi (D) Agra

22. Which State Tourism Corporation had launched super deluxe luxury train-

The Deccan Odyssey in association with Indian Railways and Ministry of

Tourism ?
(A) Karnataka (B) Andhra Pradesh
(C) Maharashtra (D) Tamil Nadu
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23. The Standard unit used in fare calculation and is based on the US dollar

is known as :
(A) BBR (B) COC
(C) BRR (D) NUC

24. Calculate the flying time if a flight of Al leaves New York at 20:00 hrs
(-5:00 hrs GMT) local time on Thursday and arrives Delhi (+5:30 hrs GMT)

at 00:30 hrs on Saturday local time :
(A) 18:00 Hrs (B) 19:00 Hrs
(C) 20:00 Hrs (D) 21:00 Hrs

25. Travel from a pint and return to the same point by a continuous circuitous

air route is known as ?
(A) One Way Trip

(B) Round Trip

(C) Circle Trip

(D) Round the World Trip

T.B.C.: 18/17/ET—III 16
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26. When Excess Mileage Surcharge is charged :
(A) If EMA is added in MPM
(B) If MPM for a given routing is equal to TPM
(C) If MPM for a given routing exceeds TPM

(D) If TPM for a given routing exceeds MPM

27. Match the following and select correct answer from the codes given

below :

City/Name of Airport Code
(Z) Albany, NY USA (@ BDQ
(i) Vadodara (b) GGW
(ziz) Cambridge, UK | () CBG
(iv) - Glasgow (d) ALB
Codes

@ @ (@) G

A @ b @ ©

B) © @@ b (@

C) d @ (@ 0

M @ B @ @
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28. In which year the concept of Grand Tour was coined for tourists ?

(A) 1855 (B) 1856

(C) 1857 (D) 1858

29. Which one from the following is also known as Handling Agencies ?

(A) Inbound Tour Operators

(B) Outbound Tour Operators

(C) Domestic Tour Operators

(D) Destination Management Companies

30. Which one from the following is the first step for effective Itinerary Designing

and Development ?

(A) Identify the ARNK Segments

(B) Selection of Destination

(C) Identification of Market/Tourist Requirements and their Budget

(D) Identification of Right Sightseeing

T.B.C. : 18/17/ET—III 20
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31.

32.

33.

In India Association dealing with issues including regulation and managing

hotels is :
(A) IHMO (B FHRAI

(C) IHF (D) IHO

A marketing system that combines successive stages of production and ai®

tribution under single ownership :

(A) Administrated Vertical Marketing System
(B) Horizontal Marketing System

(C) Contractual Vertical Marketing System
(D) Corporate Vertical Marketing

When sales for an item are low and costs exceed revenues, this stage is known

as :
(A) Phase out (B) Drop
(C) A run-out (D) Decline

T.B.C.: 18/17/ET—III 22
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34.

Match the following and select the correct answer from the codes given

below :
(i) Market Segmentation

(zi) Geographic Segmentation

(iit) Psychographic Segmentation

(fv) Demographic Segmentation

Codes :

@ @ Gu) G
A @ b)) (@ (@
B) @ @ @B (@
€ @ @ b (@
D) e @ (@ ()

T.B.C. : 18/17/ET—III
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Using population features such as
age, income, gender, occupation
ete., to segment market as these
influence the tour behavior
Segmentation on the basis 'of

mental make-up of tourists, prima-
rily their.attitudes, interests, and
opinions, is called Psychographic
segmentation.

Is the process through which tour-
ists with similar needs, wants and

characteristics are grouped
together or the total market is
divided into smaller parts that
share common characteristics

Deriving segmentations on the
basis of geographic features such
as climate, topography, etc., that

influence travel behavior.
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35. When product demand for some tourism services increases despite increase

in price based on the concept of ‘conspicuous consumption” is called as :

(A) Veblen Effect

(C) Justice Theory

Unique Value Effect

(D) By Pass Theory

36.  The product is too specifically positioned to be termed unsuitable by majority

of the tourists is the example of the following positioning errors.

(A) Under-Positioning

(C) Confused Positioning

Over-Positioning

(D) Doubtful Positioning

37. Match the following and select the correct answer from the codes given below :

@)

Cost Based Pricing

(iz) Differential Pricing

(izi) Discount Pricing

(fv) Premium Pricing

Codes :

(A)
(B)
(C)
(D)

@)
(d)
()
(a)
(d)

(iz)
(c)
(a)
(b)
(a)
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When different prices are fixed for
different markets for the same

products and services.

Method of pricing where cost is
taken as the basis of fixing price.

Temporary pricing reduction are

made to encourage sales.
When high price is fixed to build

a high-end image of a product.
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38. “Services cannot be stocked for future use if not consumed is” this charac-

teristics of services is called as :

(A) Tangibility (B) Servicescapes

(C) Separability (D) Perishability

39.  The type of selling technique where the company’s other products are sold

to the guests.
(A Adaptive Selling (B) Cross Selling
(C) Up Selling (D) Down Selling

40. Full form of PRASAD is :
(A) Pilgimage Resurrection and Spiritual Augmentation Drive
(B) Pilgrimage Rejuvenation and Spiritual Augmentation Drive
(C) Pilgrimage Reju\;enation and Spa Amelioration Drive
(D) Pilgrimage, Religion énd Spiritual Amelioration Drive
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| 41. Under Swadesh Darshan Scheme how many thematic circuits have been

identified for development ?
(A) 13 (B) 12
(C) 11 , D) 10
42. Which sports is termed as Heritage Sports of India ?
(A) Cricket (B) Golf
(C) Polo (D) Hockey
43. As in 2017, E-Visa is available ‘for entry through these 3 seapo'rts :
(A) Goa, Mumbai, Kolkata
(B) Chennai, Kolkata, Gujrat
(C) Andhra Pradesh, Tamil Nadu, Maharashtra

(D) Cochin, New Manglore. Marmagoa Sea Port
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44. Match the following and select the correct answer from the codes given below :

Planning Approach

(i) Boosterism

(ii) The Economic Approach

(izz) The Land use Approach

(v) Community Tourism Planning (d)

Codes :

(i)
(A) (a)
(B) ()
C) (@)
D) (@)

(i1)
(c)
(c)
(b)
(b)

T.B.C.: 18/17ET—III

(i)
(d)
(@)
(e)
(a)

(iv)
(b)
d)
(d)
(c)

32

Meaning

A simplistic approach to planning
based on the assumption that tour-
ism development brings benefits to
the destination.

Is based on the assumption that
tourism is an effective means of
achieving economic growth, regen-
eration/diversifications.

It recognizes the interdependency
between tourism and the physical
environment and as a result pri-
macy is given within the planning
process to minimizing the impact
of tourism and tourists on the
environment.

A "bottom-up" form of planning
where the views and attitudes of
local residents are incorporated
into tourism plans and they play
active role in planning and
managing tourism.
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45. Match the following and select the correct answer from the codes given

below :

() Agro Tourism

(it) Eco Tourism

(izi) Adventure Tourism

(zv) Ethnic Tourism

Codes :

@ @ @ ()

A @ G @ @

B) ® (@ (@ (@

) B @ @ ©

M @ (@ @& @

T.B.C.: 18/17/ET—III

(a@)

(b)

()

(@)

34

Tourist hiking or boating in
natural areas, with local bodies

and visit to villages and farms too.

Tourist staying with farm families and

learning about farming activities.

Visiting own original homelands or places

of their ancestral origin.
Tourists engaging in physically person-

ally challenging activities like safaris and

trekking.
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46. Three scales at which tourism is planned are :
(A) The regional scale, the zonal scale, the national scale
(B) The site scale, the regional scale, the zonal scale
(C) The site scale, the destination scale, the zonal scale
(D) The site scale, the destination scale, the regional scale
47. The full from of UNCDF is :
(A) United Nations Capital Development Fund
(B) United Nations Community Development Fund
(C) United Nations Community Development Fundation
(D) United Nations Corporation Development Fund
48.  The Scale which have an absolute or true zero for measurement is known as :
(A) Ratio Scale
(B) Ordinal Scale
(C) Interval Scale

(D) Nominal Scale
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49. The technique which involves studying a previously recorded or reported
communication and systematically and objectively breaking it up into more

manageable units that are related to the topic under study is called as :
(A) Historical Analysis (B) Content Analysis
(C) Previous Analysis (D) Systematic Analysis

50.  The study which do not require any assumption regarding the shape of the

population distribution from where the sample is drawn.
(A) Parametric Tests (B) Non-paramertic Tests
(C) Chi-square Test (D) T-Test

51.  The test which measures the degree of association between two or more set

of variables ?
(A) Regression (B) T-Test
(C) Correlation (D) F-Test

52. A multivariate statistical technique in which there is no distinction between

dependent and independent variable is known as :
(A) Factor Analysis (B) U-Test

(C) Z-Test (D) MANCOVA
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53. The null hypothesis is accepted when false; the research is committing an

error called as :
(A Type I Error (B) Type III Error
(C) Type I1I Error (D) Type IV Error
54. Which of the following is the correct deﬁnij:ion of Hypothesis ?
(A) A statement or an assumption regarding population which is true.
(B) A statement or an assumption regarding population which is false.

(C) A statement or an assumption regarding population which is measured

in quantity

(D) A statement or an assumption regarding population which may or may

not be true.

55.  An alternative to a t-test for testing the equality of means of two independent

samples :
(A F-Test (B) Z-Test
(C) Mann Whitney U-Test (D) ANOVA
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56. If the null hypothesis is rejected when it is actually true the researcher is
committing which type of error ?

(A) Type I Error (B) Type III Error
(C) Type II Error (D) Type IV Error
57. Match the following and select the correct answer from the codes given below :

() Top Down Approach (@) Top level of management provide
guidelines parameters and limitations
under which middle and lower level
managers formulate tentative plans to be
sent to higher level for review and
approval.

(i1) Bottom-up Approach (b) All types of planning is done at the top
of hierarchy and implementation is done
at lower levels of management.

(iit) Composite Approach (¢) It involves lower levels of management
into planning which is later communi-
cated to higher levels for review and
approval.

(tv) Team Approach (d) More managers are involved in planning
process to be sent to chief executive for
review and approval.

Codes :

@ @ G G
A @ B (@ @
B) ® (@ (@ @@
€ @ @ b (@
M @) @@ @ @
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58. Theory X and Theory Y of Motivation are given by :
(A) Abraham Maslow (B) Douglas McGregor
(C) Claynton Alderfer (D) Herzberg

59.  The theory of motivation which is based on the "Law of Effect” that states
behavior with positive consequences tends to be repeated but with negative

consequences tends not to be repeated is termed as :
(A) Reinforcement Theory (B) Equity Theory
(C) Expectancy Theory (D) ERG Theory of Motivation

60. The leadership style where leaders have no authority and responsibility and
the subordinates themselves take decisions for which they get authority is

known as :

(A) Democratic Leadership Style
(B) Autocratic Leadership Style

(C) Laissez Faire Leadership Style
(D) Task Oriented Leadership Style
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61. The leadership theory that seeks to determine the universal personal traits

of effective leaders is known as :

(A)

(B)

(©

(D)

Behavior Theory
Trait Theory
Situational Theory

The Followers Acceptance Theory

62.  The participative approach to management that brings in involvement and

commitment of employees of the organization to contribute their best to

organizational goals :

(A) Japanese Management (B) Korean Management

(C)

Chinese Management (D) Thai Management

63. Full form of EDP is :

(A)

(B)

(C)

(D)

Electronic Data Programming

Electronic Data Processing

Electronic Departmental Programming

Electronic Division Processing
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64. Transmission of message in words or in any other way is called :
(A) Feedback (B) Receiving
(C) Decoding (D) Encoding
65. How Average Rate of Return (ARR) is calculated ?
(A) By dividing Half Yearly Proﬁ.t Before taxes by Average Investments
(B) By dividing Monthly Profit Before taxes by Average Investments
(C) By dividing annual average profits after taxes by average investments
(D) By dividing annual average profits before taxes by average investments
66. Interest received on long-term investments is shown under -
(A) Operating Activities (B) Financing Activities
(C) Investing Activities (D) Profit Activities
67. Cash flow statement indicates change in :
(A) Bank and Bank Equivalents
(B) Bank Equivalents Only
(C) Cash Equivalents Only

(D) Cash & Cash Equivalents
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68. Match the following and select correct answer from the codes given

below :

(1) Capital Budgeting

(ii) Fixed Assets

(@) When debt is not backed by a pledge of

assets.

(b) A specific discount rate that makes the

net present value zero.

(iii) Internal Rate of Return (¢) The part of the total cost that does not

(fv) Unsecured Load

Codes :

@
A) (a)
(B) (@

©) @

D) ()

(i)
(b)
()
(c)
(¢¥)

(ziz)
(c)
(a)
®)
(@)

(iv)
(d)

)

(@) _

5)

change with changes in output.

(d) The process of and selecting of long term

investment project.

69.  Sales at Break Even Point is equal to :

(A) Fixed cost divided by price

(B) Fixed cost divided by the difference of price and variable cost

(C) Fixed cost is equal to variable cost

(D) Fixed cost is greater than variable cost

T.B.C. : 18/17/ET—III
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70.  The accept-reject result of NPV and IRR is the same if :

(A) Projects are independent

(B) Projects are mutually exclusive

(C) Projects are dependent

(D) Projects are in Loss

71. Match the following and select correct answer from the codes given

below :

(i)  Accounting Rate of Return

(i) Capital Structure

(i) Financial Leverage

(iv) Leverage

Codes :

@
(A (®)
(B) ()
€ @
D @

(@)
(@)
(c)
(e)
(a)
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The ratio in which equity shares,'
preference share and debt form the

capital base of a firm.

Accounting profit divided by some

measure of Investment.

The introduction of fixed charge
securities into a firm's capital

structure.

The use of fixed cost funds for the
purpose of raising profitability.
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72. The account which shows the summary of income and direct expenditure

relating to trader for a specific period :
(A) Income Account : (B) Balance Sheet
(C) Profit and Loss Account (D) Trading Account

73. Two parts are given below. In Part-I name of the monuments are given and
in Part-II heritage sites are indicated. From the codes given below, select

the heritage site where all the monuments are situated :

Part-1 Part 1I
(Monuments) (Heritage Sites)
(@) Atga Khan's Tomb () Hisar
(b) Safdar Jung Tomb (it) Lucknow

(¢) Mirza Abdur Rahim Khan (zii) Agra

Khana's Tomb
(d) Qubba-tul Mosque (fv) Delhi
Codes :
(A) Hisar (B) Lucknow
(C) Agra (D) Delhi
74. Where is the Son Beel Wetland situated ?
(A) Karim Ganj district (B) Kalika district °
(C) Junagarh district (D) Kohima district

75. How many tourist sites have been declared to be developed without any
additional allocation in the 2018 budget ?

(A) 10 : (B) 20
(C) 30 (D) 40
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